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W@ H R T A Java F o AR g T g % 0+ 8 System.out.printin("Sum
before the swap: " + Element.sum(e)) % System.out.printin(*Sum after the
swap: " + Element.sum(e))z'ﬁ@?l % (20 4)

/l Trace.java (# &)

public class Trace{
public static void main(String[] args){

Element[] e = new Element[5];

e[0] = new Element(10);

e[1] = new Element(5);

e[2] = e[1];

e[3] = e[0];

e[4] = new Element(5);

System.out.printIn("Sum before the swap: " + Element.sum(e));

for(inti=0;i<e.length - 1; i++){
if(efi] == e[i+1]{

break;
¥
else{
Element eTmp = e[i];
e[i] = e[i+1];
e[i+1] = eTmp;
¥

}

System.out.printIn("Sum after the swap: " + Element.sum(e));




// Element.java (4 %)

public class Element{
private int value;

public Element(int value){
this.value = value;
¥

public int getValue(){
return value;
}

public static int sum(Element [] e){
int sum = e[0].getValue();
for(inti=0;i<e.length - 1; i++){
if(e[i].getValue()<= e[i+1].getValue()){

continue;
} _
sum += e[i+1].getValue();
}
return sum;
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